W St EElo| AZL AT}

o EM(MCHEEFXLA])

] EYRFMASHRIET]) <HEH HEH EALR> sHREE|(F) MB(wE
T = + 4 che = T2 =4 H o

245 1m X 20m m 2,400 1.1 2,640.0

nyHE 23%20cm 74 200 1.0 200.0

MBH|AA 2,840

2ER 2t ol 144,481 0.012 1,733.7

2ER Ho=z7| " 144,481 0.019 2,745 .1

Sdgelf SHEE7I " 181,293 0.012 2,175.5

HER Mz 4 58 " 144,481 0.012 1,733.7

QA 2A 8,388

Al 11,228

® BXt= et oz RO e £=7:30|04, K = E£= 213, F2F SA FIHA = &S5 8ot

@ =2Y9AHE7I 20mE =0E 2 =10 tisll ol & HE A MG ZAAIHS| 228 7H2l= A0 1mE =HEAHE

6me| H| 82 ZC}.

[2] EMUEMSHEAY ERY|) <HEH MEMH> St EE|(F) M3 (m g
T = 4 4 ch = 2 = H o

EMHE 1mx20m m 2,400 1.1 2,640.0

A7H L=20cm 7H 200 1.0 200.0

MEH| A 2,840

2EQR At ol 144,481 0.012 1,733.7

2EQR H=E7| ! 144,481 0.019 2,745 .1

2HEQR HEZ7| ! 144,481 0.012 1,733.7

Edelg HERT " 181,293 | 0.008 1,450.3

2HEQR oMz 2 5E " 144,481 0.012 1,733.7

A 2A 9,396

Al 12,236

@ OFAIH E= XY 22,7008 B 2.

@ Atz Lutd o2 URC A el £=7:30|09, Mef = L= 33, F2F A FI7MA = 2S5,

® 2RUAHE7I 20mE =t 2 =120 tfsl ol & Hx A AAIHS 228t H2l= A0 1mE T2 A

6me| H| 22 ZCf.

[3] MNP E(SHI RO R A < HEH 2[HH O ES

St () M3 )
E- 2 chel o EME| T EAS(M, By EME|IHEBHWEN)
= = T2 =
E42|gUH E(AY) 1m X 10m m 5,200 1.1 5,720.0 - -
E42|dUHE(BY) 1m X 10m " 4,000 - - 1.1 4,400.0
A7HH [=20c¢m 24 200 1.0 200.0 1.0 200.0
M EH| A 5,920 4,600
HEQR Ho=z7| 2l 144,481 0.020 2,889.6 0.012 1,733.7
HEolg 224t " 144,481 0.036 5,201.3 0.019 2,745 .1
HEQR HEZ7| " 144,481 0.024 3,467.5 0.024 3,467.5
Sgelg HEZT " 181,293 | 0.016 2,900.6 0.016 2,900.6
HEQR Idx 4 5 " 144,481 0.024 3,467.5 0.024 3,467.5
QlAH[ A 17,926 14,314
Al 23,846 18,914
@ oAt EU E(AY) 5,500, DA EH E(BE) 4,300 XA &7 M E.
@ BXtes et o2 URC A2 £=7:30|04, A = E£= 3|, FE2F A FIHA = S8t
® 22YHE(7t 20mE =ntet 22 =3HE0| tHall 0| & B HAtstn] HALHS| A28t HE|l= & 1mE =8 AHE|

6m2| H| 82 =Cf.



[4-1] EYHEAE (OIS 7 EE) <H, MEH J SHFHALE> st 2Eo|(F) M3 (m &
T 2 + A che| ch 7} T2 =4 o

ZMOfE 1m X 10m m 4,500 1.1 4,950.0

L7HH L=20cm 7H 200 1.0 200.0

MEH| A 5,150

2ER A2k ol 144,481 0.016 2.311.6

2ER Hn=7| " 144,481 0.019 2,745.1

HER HEZ 7| ! 144,481 0.012 1,733.7

Sgelg HEZT] " 181,293 | 0.012 2,175.5

H2Eolg HMx 2 2 " 144,481 0.012 1,733.7

Q| A 10,699

A 15,849

@ A= Lutd o2 LRCAf el ==7:30|04, Mef = +E 313, SEF Xt FIHA = g3 et

@ =2Y9AHE7I 20mE =0E 2 =10 tisll ol & HE A MG ZAAIHS| 228 7H2l= A0 1mE =HEAHE

eme| H| 82 2Ct.

[4-2] EY ol EBE <L 2> st= 2 Eol(F) M S (m &
T 2 o 4 che| ch 7} T2 =4 Hl

EMOfE 0.6mx10m, 1.0mx10m,|[ m 34,000 1.1 37,400.0

1.2mX10m, 1.5mX10m

ot 7t 210, L=300mm 7H 600 2.0 1,200.0

MEH| A 38,600

2E2 =l 2l 144,481 0.077 11,125.0

HEF HES7| " 144,481 0.012 1,733.7

Sl HEZ?I " 181,293 0.012 2,175.5

2E2 HAx & He| " 144,481 0.024 3,467.5

Q| A 18,501

2l 57,101

® 22YAHE7E 20mE =t 2 =120 tfsl ol & Hx At AAIHS 228t H2l= A0 1mE T2 A

6mel 8= 2Cf.

[6] EMe|ZiE(SSHI R & oA § B&) <M HEW, 2|ZH, ofALE 3 SHMALE> St EE|(F) M3 (m E)
T = 4 A che| = T2 = H| T

EMe|diiE 1m X 10m m 11,500 1.1 12,650.0

L7HH L=20cm 7K 200 1.0 200.0

M EH| A 12,850

2Eol7 == 2l 144,481 0.020 2,889.6

2Eol7 22t " 144,481 0.036 5,201.3

2Eol7 HES?| " 144,481 0.024 3,467.5

Sgelg HEZT " 181,293 | 0.016 2,900.6

2Eol7 oMz 2 5E " 144,481 0.024 3,467.5

lH| A 17,926

2l 30,776

® BXtes et oz RO A2 £=7:30|04, A2 = £= 2|, FEF A FIHA = S ect

@ 2RYHEZI20mE =t 2 =1h20 tisl ol & Hx AMSI AAIHS 228 Hel= A0 1mE TEAHE

6m2| H| 82 =cf.



[6-1] EMUAE(MAREET) <AEHA], 22 S5} Aduis2> st= 2 EH0|(F) M (m )
E 2 o ch| e o) SHELT|F HHSHYAIS
= =N 2 =N
24l 40cm X 60cm ojf 2,700 15.0 40,500.0 6.0 16,200.0
MEH| A 40,500 16,200
2ER Ho=7| ol 144,481 0.032 4,623.3 - -
2ER S <71 " 144,481 0.245 35,397.8 0.110 15,892.9
HER sl " 144,481 0.192 27,740.3 0.077 11,125.0
BESoF a2 " 144,481 0.357 51,579.7 0.103 14,881.5
Sgelg = NP " 181,293 | 0.021 3,807.1 0.021 3,807.1
Sdgelg ofof 47| " 181,293 | 0.192 34,808.2 0.077 13,959.5
QA 2A 157,956 59,666
Al 198,456 75,866
® EofAL 242 XX oL 3,0008 &,
@ 24U =3tz o| J|&E2 Tl 1:1, =21 3mo|st 7|F0|0d, 3m O|&FA| 3motct 10%2| elzid| & &5 Shct.
® BAs YUt o2 YO Mel £=7:30|0, 2h = E= 513, F27F Xt FIHA= &S st
® SIZO{ZAA TH|ALZ0| 25 4 TH|d|= HE A A}
® ~2YAHZII20mE =0E 2 =10 tisll ol & HE A MG ZAAIHS| 228 7H2l= A0 1mE F=EAHE
7me| H|2Z ZrC}.
[6-2] 2444 BE (MOIREEIE ) <A X], &7t 2 QtHkSS)> St EE|(F) M3 (m e
SHEWI|S
T 2 o+ A = =~ H 1
2 =
2 50cmX110cm af 9,000 | 6.250 56,250.0
A& 30cmx10cm 7H 2,500 | 6.250 15,625.0
M EH| A 71,875
2HEQR =l 2l 144,481 0.030 4,334.4
HEolg M7 " 144,481 0.235 33,953.0
2HEQR fnsatily " 144,481 0.184 26,584.5
HEolg 2|28t " 144,481 0.343 49,556.9
Edelg = >N P " 181,293 | 0.020 3,625.8
Edelg ofof 47| " 181,293 | 0.184 33,357.9
A 2A 151,412
Al 223,287
@ BMu =35t 7|E2 Tl 1:1, =210 3mo[st 7| F0[0{, 3m O|atA| 3motet 10%2| QlZdH|E & hct
@ BXtes et o2 RO A2l £=7:30|0, A = E£= 3|, FEF A FIHA = S8t
® SE{Zd 4t FH[ALZO] E7tn] & AP ZH|f= HE A aksioh,
® 2RYAHETI20mE ot 2 =120 tisl ol & Hx AAMSIe AAHS 228t Hel= A 1mE TEAHE
7me| H|2=2 ZC}.
[7] EMHi==THZ - Zulj=m) St EE|(F) M3 (m E)
S 2 ool | e o ST s
= = T2 =
=1t 20cmX600cm m 3,200 | 1.000 3,200.0 - -
2ol =1 450cm X 30cm " 10,500 - - 1.000 10,500.0
XY 2 40mmX 3mm ! 1,180 - - 1.000 1,180.0
2A= 1mx20m " 550 | 1.000 550.0 1.000 550.0
N 225mm m 60,000 | 0.150 9,000.0 0.150 9,000.0
M EH| A 12,750 21,230
HEQR = i ol 144,481 0.220 31,785.8 0.220 31,785.8
Sdgels b =T | ! 181,293 0.180 32,632.7 0.200 36,258.6
HEQR AR 27| ! 144,481 0.245 35,397.8 0.245 35,397.8
Sgelg 2az Y EH " 181,293 | 0.053 9,608.5 0.053 9,608.5
2Eol7 HCtX| 7| ! 144,481 0.021 3,034.1 0.021 3,034.1
A 2A 112,458 116,084
BHA| 125,208 137,314




[8] EMEZSH(REI<HEH, MEAHSS]> SIEEE|(F) M3 (m &)

T+ 2 =8

0.5T 0.7T 1T 2T

M =d| A 3,383 3,915 4,957 7,599
QUZAH[ A 2,003 2,262 3,262 4,259
A 2A 589 658 953 1,043
A 5,975 6,835 9,172 12,901
@ Lonseng Soil(EME)2t AlMT|EIx=H 2 2all St eE eS8 3 E2 XA st
@2 SE2MEES Z8o|nf, HI 27| E2 HE HAsCt
® S o{a dRa MXJ0| st o= HE H A}
® =2 =0| 20m O|AtQl A=Roll= AAHES 20% E©Z A Atstct
® HIEH MEj(2F 7|27], THRH)S w2l SX}, MsE=H So0| & 2 5= Uct

® "Lonseng Soil(EME)"'= &letd

[0] EMETH(RY<HEAH otub=sp B2 EfOl(F) MB (w2

E =2

ST R 5T(A 2 6T 72 BT(ze) | 1T(H)

M =d| A 12,022 12,387 14,299 21,780 24,623
A A 11,364 17,786 21,946 33,178 40,762
A 2A 1,243 2,499 3,158 4,153 4,473
2l 24,629 32,672 39,403 59,111 69,858
@ Lonseng Soil(E4 £)2t Al 47[8HEN S 2i5) S5t etel Mej =28 /B E2+S x| & st
@2 Z2 WEHS Titolof, HO27| 22 €T H A
® BE 07N MR 0| HYCR WHD Al HE AAFch
@ %= £0| 20m 0| Afel 2ol 21 Zo| 20% TS H abeict,
® HEH MEl(2F, 7|87|, EHLE)Sl wat I, YSExM Sol 32 € 5 Uck
® "Lonseng Soill( 24 E)"E 2124 SAIKIY 2 Z4ZAl 30% Lhelel SHAt0|E 2 % 9ct



